=3

SM2FE12R =

=] A R /3 x & ==
1 Z 4 5
BB 118 EEiA5E
XEFR):13:00~15:30 [ %E5R3:13:00~15:00
6 7 8 9 10 11 12
SHWZERE A% L4858 HAEREE
HRE B /S XE5R9:13:00~15:00 |"#ERAENLI<EED
BP3- FHHEE (G56M) ?#Cbr-;ﬁﬁﬁﬁ&&:b
B§RY:10:00~11:30
BPRIEEEATR—OTH
CEE(X2H)
13 14 15 16 17 18 19
RiMREEI TR TRIKNRIE
HBBRERI2ILILOREE IY2dell7471R
XB§R3:10:00~15:00 HBBEREEICOUT,
) . FERN:17:15~
N RS AREE
O+ EEFRotit R EiRON2

?
Ff: 13:00~14:30
iaPl DR GMA NS (HRF2RE)

20 21 22 23 24 25 oD 26
E o fa
%B5R9:13:00~15:00 g il

27 28 29 30 31

#IRPl: KPTHIZPR 208
A -BatE/ BRIICEET, hidREEE2—(226-4194)N

He/ e
t>-2 - %R/ 9:00~17:00(A~1)




